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= m 10.Please find the time

parallel-plate transmission line.

/ P.,-ds

A alpha =
B.alpha =
C.alpha =
D. alpha =

E. alpha =

Pav:3 P,,

/ P,, - dS

- ds along the

erage power

llhlu
a

&

1

0
1

dw(21),

1 7 9
2\“]‘.122)

TRE(Z) PN F

TREE(C)
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hint: find V2 E)
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)
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Via - ps

gamma = sigma - delta =0

Given the instantaneous expression of the electric field for a uniform plane wave:

E(2,) = @y By cos(wt — kz + ). It propagates in a lossless simple
medium (e, = 9, s, = Lo = 0) in the + z-direction. It has a frequency of 200
MHz and a maximum electric field at ¢ = 0 and z = 0.25m.

[L08%EF

B (a) Determine the values of w, k and .

;rad
w=a x 10

rad

‘'m

A alpha = 1257 - beta=9 : gamma =1257 - delta =314
B.alpha=2 : beta=8 ' gamma =3771 ' delta=3.14
C.alpha=4 - beta=8 - gamma =0419 - delta = -3.14

D.alpha = 6.28 - beta=7 - gamma = 3771 - delta=314

E.alpha=2512 + beta=7 ' gamma = 0419 -« delta=-314
F.

Low = 2rf = 2 x 200 x 10°(1),

w = 1.257 x 10° md(‘zj
s
k=uw >
1.257 % 10° rad
T (3),k = 47 = 12.57—(4)
310 m

N

V3
1 x 4 x 0.25 + ¢ >
1.184(7)
¥ = =(6)

3z-y=0-

z . &V P " + (s
z-y - 2(9) 3] 11): V2V — pe 58 (b) Write the instantaneous expression of the magnetic field H(z, t).

2 o= 3

—

TEE (D) —MARS

HATIE Y T
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